14 Feb 2022 Change of basis formulae, starting SVD Recall course enrollment example: Course M= total # stu 70 # grad 20 M= # ugrad 50 # grad 20 Change of basis matrix B= [01]. N=BM But if a lineer function has coefficient Vector [a 1] in first lasis, its coefficient vector in the second one is [2-1]. Det. A based vector space is V with isomorphism 12 V. Chaosing a based ves, struct an V lets us write elements of V as n-tuples of numbers (v) B-1(v). Example. V = vector space of course enrollments, B. : R2 V basis choice for table M. B(1) = a vector of course enrolls that would be repid in M by column rector (10).

 $= a \quad \text{Course with 1 ugral, } p \text{ grad}$ $\triangleq u,$ $\beta(1) \triangleq \beta = \text{course with 1 grad, } p \text{ ugrad}$

Bai RZ >V Sasia choice for table M' (3) = enrollment represented in M/
by (b) i.e. I total student,
x grads B2 (?) = enroll repid in M/ lay (?) i.e.

D total students, 1 of whom is grad. = 3-2 DEF. Charge of Lasis motion from By to Bz is
the matrix representing the linear transformation $\mathbb{R}^{\widehat{\beta_{1}}} \vee \xrightarrow{\beta_{2}^{1}} \mathbb{R}^{\widehat{\beta_{1}}} \otimes \mathbb{R}^{\widehat{\beta_{1}}}$ $\beta_{c}^{-1}(\beta_{c}(\overline{e})) = \beta_{c}^{-1}(\overline{u}) = (0)$ $\beta = \begin{pmatrix} 0 & 1 \end{pmatrix}$ $\beta_{2}^{-1}(\beta,(\vec{e_{2}})) = \beta_{2}^{-1}(\vec{s}) = \beta_2^{-1}(\vec{x} + \vec{s} - \vec{x}) = (')$ What does change-of-basis do to the matrix representing a linear transformation, T: V-sW? PUIT BUZ BUT BUZ
R R R R

To say that M_1 represents T in the saces R_1 , β_{W_1} means that $\forall x \in \mathbb{R}^2$ $T(\beta_{V_1}(x)) = \beta_{W_1}(M_1x) \beta_{V_1} \int_{M_1}^{R_{W_1}} \beta_{W_1} \int_{M_1}^{R_{W_1}} \beta$ If Mz represents T in bases Brz, Bwz then Y. T(v) = Bwz (Mz (B/2 (v))) $\beta_{wz}(M_z(\beta_{vz}^{-1}(v))) = \beta_{wi}(M_z(\beta_{vj}^{-1}(v)))$ $x = \beta_{vz}^{-1}(v)$ $\beta_{wz}(M_{2}(w)) = \beta_{ux}(M_{1}(\beta_{v1}, \beta_{v2}(w)))$ $\beta_{wz}(M_{2}(w)) = \beta_{ux}(M_{1}(\beta_{v1}, \beta_{v2}(w)))$ $(\text{sot } \times = \beta_{vz}^{-1}(v))$ $\forall \times$ $M_2(x) = \beta_{w_2}^{-1} \beta_{w_1} M_1 \beta_{v_1}^{-1} \beta_{v_2} \times$ = (Bw M, Bv)x Mz = Bw My Br

